50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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"’ gg\wvsgi‘fh /Semester B.E. Degree Examlnatlon, Dec.2019/Jan.2020
SHALORY Embedded System‘“ (ARM)

Time: 3 hrs. Max. Marks: 80
Note: Answer any FIVE full questions, choosing ONE full question from each module.
Module-1
1- a. What is meant by ARM.? List out steps present in ARM design philosophy. (08 Marks)

b. Describe the following : )
1) Generic program status register
i1) Processor modes. (08 Marks)
. OR .
2 a. Explain the followmg embedded system hardware components :
1) ARM Bus technology
ii) ARM Bus protocol
iii) Memory ' : (08 Marks)
b. Explain pipeline concept in detall (08 Marks)
Module-2
3 a. Explain the following instruction with syntax
1) Logical instruction " )
il) Comparison instruction. » (08 Marks)
b. Software mcorrupt instruction write example with pre and'post condition. (08 Marks)
bR % W
4 a. Explain the thumb load store mstrucuon using : ‘
1) Smgle register
ii) Multiple register syntax " : (08 Marks)
b. Explain the following thumb instruction :
‘1)  ARM-thumb interworking %
...i) Multiple reglster Load-store instruction example. (08 Marks)
Module-3
5 Describe the' followmg load scheduling process :
a. Load scheduling by preloadmg
b. Load scheduling by unrolling.” (16 Marks)
OR
6 a. Making the most of avaxlable register in register allocation with count shift example.
(08 Marks)
b. Describe bit rnampulatlon concept in short. (08 Marks)
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7 a.
. b.
8
a.
b.
9
a.
b.
¢
10 -
a.
b.
&

Module-4
Explain the following cache policy :
i) Write policy
ii) Cache line replacement polices
iii) Allocation policy on a cache miss.

Draw main memory maps to a direct mapped cache in cache archltecturef

o

... OR
Describe the following concept in cache lockdown.
Locking a cache by mcrementmg the way
Locking a cache using lock blts

o Module-5
Write following conceRt with neat description :
Assigning interrupts
Interrupt latency ¢

;;;;;;
i

IRQ and FIQ exceﬁtibn.
OR
Explain thém followmg
Non nested interrupt handler
Nested interrupt handler
Prioriszed simple mterrupt handlet.

it
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(08 Marks)
(08 Marks)

(16 Marks)

(16 Marks)

(16 Marks)




